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BAIN MUSC 115
Music Theory I

Interval Inversion
DIATONIC DISTANCES

SUM = 9

CHROMATIC DISTANCES
SUM = 12

RATIOS
SUM = 1200 cents

3
2 * 4

3 = 12
 6

= 2
1

Calculation:

By definition, there are 1200 cents in an octave. The following formula may be used to convert a frequency ratio (f1/f2) to cents (c):

Reginald Bain, Ratio to Cents
https://reginaldbain.com/atmi12/rtc/

c = 1200 log2 (f1/f2)

You can use my Web app Ratio to Cents to convert a frequency ratio to cents. It is available online at:


